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Total no. of questions — 50 Total marks — 100

*
0.0

All questions are compulsory and MCQ in nature.

>

< Each question carries equal marks.

L)

» Weightage of each question is 2 marks.

L)

|_unIT 2 TOPIC No. of |Weightage| ..
SETS AND FUNCTIONS question %
(1) Sets 4 8%
NIT-1: . ;
Pt (2) Relations and Functions 4 8% 14(2) =28
(3) Trigonometric Functions 6 12%
ALGEBRA
(1) Complex Numbers and Quadratic Equation. 5 10%
(2) Linear Inequalities. 1 2%
| UNIT-11:: (3) Permutations & Combinations. 4 8% 19(2)= 38
(4) Binomial Theorem and Mathematical
; 3 6%
Induction
(5) Sequence and Series 6 12%
CO-ORDINATE GEOMETRY
(1) Straight Lines: 3 6%
UNIT- Lit : . .
(2) Conic Sections 4 8% 8(2)= 16
!
| (3) Introduction to Three dimensional Geometry 1 2%
CALCULUS
UNIT-IV: = Ty
(1) Limits and Derivatives 4 8% 42)=8
Mathematical Reasoning
UNIT-V: > .
(1) Mathematical Reasoning 1 2% 12)=2
STATISTICS & PROBABILITY
UNIT- V1 :|(1) STATISTICS 1 2% 4238
(2) PROBABILITY 3 6%
aet Bt TOTAL| 50 100% |50(2)= 100
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7.

SET-1 2019
(Class 11™)

arfota  (Mathematics)
Write the Roster form of the set A = {x : x is letter of word BETTER}

e A = {x:xis BETTER Y& & 41 &R & Hd ? 1}

(C) A={B,E,T,T.E.R} (D)A= (B, T,R}

IfA=1{0,1,2,3,4} and B= {1,2,3} Then find AnB="?
I A = {0,1,2,3,4} TN B = {1,2,3} @ (4N B) T BT |

(A) £0,1,2)  (B) {1,2,3} (C) {1,2,3,4} (D) {0,1}
If (1) (4UB) =2
(A) A'nB'" (B) 4'UB' (C) (4UB) (D) (4N B)

If A and B are two sets such that n(4) = 32, n(B) = 28 and n(4uw B)= 50, then find
n(AnB)

afe A R B2 W TG R b n4) = 32, n(B) = 28 T n(4UB)= 50T n(4nB) T

(A)10 (B)20 (C)28 (D)8

Find x and y, if (x+2,4) = (2,2x+ y)

afe (x+2,4)=(2,2x+y) T xR y BT A T BT

(A)3,-2) (B)2,3) (©)©0,2) (D)O,4

If A= {23}, B={4,5) and C = {5,6} then find Ax(BNC)

WY A = (2,31, B = (4, S)TT C = (5.6} Ax(BNC) T BT

(A) {(2.5)3.5))  (B) {45,564} (O {(2,5.(5.6)} (D) {(3.5).(6.3)}
_n; £(x) = % +4, then find £(2)

M fx) =2 +4,7 £(2) T PRI

(,/\")4 B) 8 (©)2 D) -2

Find the domain of f(x)=+vx-1.
BT fx) = x—1 T T S DI |

(A) «>1 (B)x<l (C)x<2 (D)x<1

The angles of triangle are in the ratio 1:3:5. Find the greatest angle.

el Brget @ @I 1:3:5 B AU & & A g FI0T BT AN 9 DI
(A)90°  (B)60° (C)20" (D) 100
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10.

1%

12

3.

14.

16.

17.

18.

19.

If tan @ = 572 and @ lie in 3™ quadrant. Then find the value of sin & —cos 6.
i tan9=%3ﬁ'\’ 9.3 H A sin—cos OB AF AT &N |

17 7 24 4
UL S (o el ) B
(A) 25 (B) 25 © 25 2 25

c0s20° —sin 20°
c0s20° +sin 20°

c0s20° —sin 20°
CIGESIN] C—lgl \lﬂQ
c0s20° +sin 20°

(A)tan25"  (B) tan45’ (C)tan20° (D) tan35’

1—cos26
sin 260

W 1—cos26

sin 29
(A) cotd  (B) cot20  (C) cotg (D) tan @

Find the value of

Find

Find the principal solution of the equation tan x = J3 . 1f x lie in 1% quadrant.
TG tan x = /3 BT & Tl foeprel o 1% TTg | B |

w: ®7 ©F O3

Find the general solution of the equation tan x + cot x = 2.

TEERT tan x + cot x = 2 BT ANH & T DIV |

(A) x=n7r+% (B) x=n7z+% () x:nﬂ—% (D) x=n7r—-72£

Ppgtasen gt

Evaluate : ———
+i"+i
) .4 .6 7
ST BT P40 40+
: 9 33
1+ +1i

(A)1+i ®B) 1-i (©) -i—-1 D)2+i
Find multiplicative inverse of 3 +2i

3+ 2i 1 TOIAd A F1 DI |
(A)3-4i (B)3+2i (C) —-—% ()— E

Find the modulus of —1—iv/3.

—1—i/3 I AIG S I |

A2 @B®-2 (©)3 D)6

Find x and y if (3x-2iy)(2+i)* = 10(1 + )

x 3R y &1 7F T P Al (3x-21y)(2+l) = 10(1 +1)

14 1 1 -1 1
A)x=—,y=7 B)x=—, =1y=3 O r=gp0=
(A) x=10, ¥ =3 (B) x Y= ©) x z (D) x=2.y
Find all the roots ofequatlon x*+1=0.

X +1=0 T Al BT A BIT |
(A)2i,-2i (B)3i,-3i (C) i, -i (D) 1+, l-i



20.

21

22.

23.

24.

25.

26.

28.

29.

Solve 3x +5 <x- 7, if x is an integer.

IR 3y +5 <x-7, I x P AP & |
(A) {rnod, 3,2} B) {orrn9,-8,-7} (O {2,3, 4.} (D) {3,4,6,7 ... }

. [ X
Find x, if —+—=—2.
ind x, 1 l_8+l_9_ 0
oM afmar Lol X

(A)100 (B) 10 (C) 20 (D)8
If n, =12.(n,,), find n.
n & AN, A ny, =12.(n,).

(A)6 (B)8 (C)10 (D)-2
Find the number of permutation of the letter of the word “ROSE”

“ROSE” I @ JER] | T el el &) WA Fd I |
(A)24 (B)42 (C)12 (D) 36

If n., =n, ,find n, .

afe Mo, =Nc, » T 3T DI ne,

(A)10 (B)45 (C)35 (D)53

What is the numberof term in the expansion of (1 + Sx/ix)g ?

(1+5V2x) @ fora % wai ot W a7
(A)5 (B)7 (©)6 (D)10
Find the co-efficient of x'° in the expansion of (x—2x" )7

(x—2x2)7$ TR H x0T Y S BIFAY |
(A) 9. (18.) (B) -8. (18.) (C) 27 (18.)(D) 8. (7))

12
Find the middle term in the expansion of (x—-z—]—j .
X

2x

[X_L)'zzﬁﬁwﬁqwqaﬁaﬂml

234 220 12 6
TR e U o e )
(A) Te (B) v ©) - (D) =
Find the 10" term of a sequence whose 7" and 12" term are 34 and 64 respectively.

szﬁrﬁmawmﬁamz34@?64%@[3@3@7&1@10&!%%
I |
(A)42 (B) 52 (C)63 (D) 36

Find the sum of the sereis 99 +95 + 91+ ....oiiiiiiininn. to 20 term.

M 90 495 +91 4 .ovieeeieannnnn, & 20 Y] T@ BT NG HIT DI |
(A)1220 (B) 120 (C)220 (D) 360

o



30.

31.

32.

33.

34.

351

36.

37.

38.

If x + 2, 3x and 4x + lare in 4. P, then find x.

af2 x +2, 3x T 4x + | TR A0 A ¥ A x BT AN A PO

(A)x=4 B)x=2 (CO)x=14 (D) x=3

Find the GM of 3 and 27.

3 7§ 27 @I TUIRR A el |

A)9 B 7 (©6 (D)2

Find the 12" term of a G.P. whose 8" term is 192 and common ratio is 2.
wgofra?Mzﬁrmaﬁaama%m,ﬁwsaﬁqamamwﬁmz%
A)3(2) ®) 3(2") © 3(2)° (D) 247

How many terms of the sereis 1+2+2° + PR must be taken to make S11.
AU 142422 42> + v & fop wal 1 foran o s gt AT 511 B
A) 10 B)8 (©)9 D)7

Find the slope of the line joining (3, -2) and (7, -2).

(3, -2) 9T (7, -2) B! e arell X1 B arel §a I

A0 B1 ©3 D1

Find the equation of line which make intercept -3 and 2 on the x and y axis
respectively.

S YT 51 TR T S x e T y e B ~3 3R 2 I S WS A E |

A) 212 B X+X-1 (@ 2+ =1 Dy e d =1
()_3+2 ()3+2 ()2+_3 ()4+1

Find the length of the perpendicular from the point (2, -3) to the line 4x + 3y + 16 = 0.
g (2, -3) W R X 4x + 3y + 16 = 0 T Tl Y o Y e el

(A) 3 B) 0 @< 4 @D 5

Find the equation of the circle whose radius is 4 and centre is (0, 1).
wqawﬁwﬁmmmﬁﬁwudﬁa 0, DEI

(A) x> +y*=16 (B) X +(y-D*=16 (C) (x-12+y* =16 (D) x*+(y+1)’*=16.
Find the centre of the circle whose diameter is the line joining the points (5, -3) and
3, 1).

I 9 @1 D% T DY ORI AR P RR (5, -3) T 3, 1) &l

A) (4.-1) B)(2-1) (© (4-3) O (1L.-2)

T©



39.

40.

41.

42.

43,

44,

45.

46.

Find the focus of the parabola x* =16y .
RAT x* =16y BT A A DI |
A) (0,2) (B) (0.4) (O)(2,0) (D) (4.0)

2 2

Find the eccentricity of the ellipse {—;—9 +2—=1

144

o . 2 - S @ i AR

169 144
5 5 5 1
(Myy B & © 7 @3

Find the length of latus rectum of the ellipse 2x” +3 v =6

'C?l'éﬂﬂ 2x2+3y2=6$3@'ﬂ;€la’%mmml

NE) 2 3 4
(A) 5 (B) N ©) s (D) "
Limit \/1’:;_1_(7
x—0 X 35

@1 ®i ©; O 3

Limit  sj
Evaluate (ST B0 e i
x—>0 sin7x

1 2 -+ 7
Wi ®: ©F Oy
If f(x) = sin x, find /"(0).

e flx) = sinx, @ £'(0) &I A feyepTet |

(A) 2 <B>‘5 © 0 (D)1
SR dy
If y=cos”x, find =

i y:cos:"x?ﬁ gy; feyepTed |

(A)Sin4x  (B) Sin3x (C)-Sin2x (D) Sin 2x.
If a leap year is selected at random, what is the change that it will contain 53

Sundays?

ofz 3 A o Fgwr g A 8, @ 53 AR S A T G &7

3 2 1
(A = (B R (I

1
7

1@



47.

48.

49.

50.

If P(A4) . P(B) o and P(ANB) =l. Then find P(AVB).

R 3 4
g P(A):%,P(B)zé Rl P(AmB):%?‘ﬁ P(Au B) @ |
10 1 4 12
(A) T (B) = ©) = (D) =
If P(A):%,fmd P(A').
i P(A):lz—l,Fﬁ P(4") ST DI |

wl® oL o
The mean of 4, 7,2, 8, 6 and a is 7. Find the value of a.
A 4,7,2,8, 6T o & AT 7 8 A a BT A (el
A)1 ®B)6 (O 15 (D) 7
If P:Itiscold.

Q : Itis raning, find pvgq.
Ife P:3S BI

Q:m’iﬁ?ﬁ%ﬁwﬁ pvq.

(A) It is cold and It is raining.

% B 3R a9 8 W E |
(B) It is cold or It is raining.

¢S ¥ I7 991 8 %@ § |
(C) It is cold and It is not raining.

¢S T 3R a9t TE & I &

(D) It is not cold and It is raining.

g 81 ¢ ok a9t & & B |
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